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e  What question is our K1) investigating?

e How does the answer shift over the course of the N"\DW-N‘?PW?

We'll focus primarily on the 593 of j17wyb 721, [However, in your own limud you may want to spend time

on a fascinating, 1"79n-specific B™)WXIT PR in NYwn 177 DAY

e Examine the X3 carefully - Is there a word which seems awkward or unusual? Could we have used

another, more common word in its place?

See what the following D"YWX1 write — here and elsewhere - about Iﬂ”WS?‘? 7w

e Pay careful attention to how many different M*¥1p they raise about ;n”wyB 2.
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e What does each NwX7 add?

e How does this relate to N11¥M77 N1371 in general?
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e  What are the categories of N1372 that are listed here?

e Which word seems misplaced at the beginning of ‘3 12512 What might it indicate about the relationship
between the various categories?

e How does this relate to the other 0*21%wX1 we learned above?
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e  How does this 721N relate to the DD K7 aW77?
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